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yERui^-

4.1.0 M'lWlftfeh ;-

^N«n ^<Jd JHlf^rfl U4>fad M $)dl d^tffwn^THI ufdfsWT / Hdldeft^dUlf^dl

*Rbfed 9T *i<*>fad TTTf%cfr% ? 3^<f^T m H^TO ^ 3TT%.

, . „ rs *\ rs n _ *\ rs \
4.2.0 JMii^cii mm*Tm :-

Mch<uiid mg eft dufarw ^

3F|^wic^4) ^il^cQ^i ^Fqi% eft mam 'gm
fft^KId ftd##cft..

1. 4IZM1-^Muft Mlkfich ? 3d<RM>jft Himrai#^TT^t.

2. tr^ juiicftw yf$ra«im7^i Rrrc ^Nufld <tr srrt^ttk ftqifed

snkiichNl ^TT^r.

«riWwi w *nffcft% fft^R zrmrst wr, tptm fwd, ‘t’ qftftwi,

«R5d dRdlfcdl ^SF *TRT ^7%T %RT.

4.3 qfreTCTHI R. 1 qfi^UT ;-

3TR&T 3Fpf cFi^shHFJo^ ^RTHWNqT folfop sq^fR iSfflMfe ^M<jf| 3"

gwftFRsft vmtv
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gfafuict, oMct^K wm - mm

“state *nw Iter 3fgzm-3TOTm yfe^cita

fW£-tePlf, teFTf-tepff, f^IFff-HT%T 3Tfta ftataf-qte ^FTHT^ q^K 

arid^tei sr«f^uf cKUi||tfi$ IMmysmt, sq^sntacteMi i)<*> icH w^Mid ste 

qw tetejta dter state °m<^k sfrtt. ’ ’

W® rff Wq^NkK&MRI ‘states?^’ qr^d Wfta##.

ste 3Fp* d>l4sW 3mcTFTT tefdd fl«l'MI ^flcTT -

1.

2.

3.

4.

5.

qtesiraisl srsrm qs?#qt te? qtat.

qfwimtal R^l fcft^3#jT?fcTT?^qu[| ^dl.

state mtewr qfrr qm q tei^fdi to to 3*wqtet 
qitarorcsFdT *mt.

y-RijcH^ qwTR, ‘t’ %^mt^tf^3TT%.
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qnrargfiuiiuirvjNR i^wra«i^?v3Ti<-grgf#^

♦ rs • *\ ..tfHIKd

WrftSlW TTWTFT

M

OTW
iffW^TT

MW

w
oM

MTUlldltf HtU|
WIT

N

Hprsni t'

w*
wmNdi

wm

df

MR

S.D

4><<6l'4l

oDX • r

T*
26.13 4.15 0.65

0.94 40 0.69 9.76 39 0.01
3tR

31.5 4.84 0.76

df = 39, 0.05 - 2.03, 0.01 = 2.73 Calculated ‘t’ = 9.76

ftftefW:-

1. elilecKRr<j«fwzmt?37R wmt wikiichN^n 4>re&& mmww w

fN'rtd 3TI%.

2. ^ x|MU|l^« yi^ri^l^ WTR 26.13 W WkiicbN MWTTR

31.5 tpl3TT%. TOWMIdla <U<* 5.17 i^T3TT%.

3. ^^MU]1dWyiklk>l^ y^|U| 4.15 <kK*IN«fldte Rx(rtH

4.84 3T7%. Wm »6<ch 0.69 t^ST 3TT%.

4. umtichkHri o.69 t^rar ant.
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f^l:-

r %^r|9.76 3n|. stmt *fd%d^rr 

v tto an%. stm ‘t’ *j?d % o.oi m * w^fer 3n%.

MfWHI 5T. 1 SiWlf d 30%.

qrdTd 3pf 3TdT #, TOT ^T dTCdd 311%. ^ TO*ft d MT

WW sm&T 3TfM d>l4sFTl^ $te#TdT olf^R STOftffa d^MT fdd#d

§TTHTT^^ fJM did 3TFdT% 3TT5o5^. 3Tsqm dSdcft fddS ^FTE dfddTdd, $M&Td7 

dTf|dTldl <TIM<, femffdWFTT^d^TW fdd,ftd fflWrl 3Udo5^.
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3TT^r #>. 1

oMe>^K gnTcrr^MHmi4Txn MfotnuH wsfr wnftd <yiM fgret
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SFRHT :-

f^OtH«l :-

1. ^Nun^l 3TT^ 3TT^RI^T 3TT%. STO^RT

33# wm f^T Mt.

2. ^pefwfNr an^ 3^r f$ra# anchKMi an%.

3. <jjf3T3Wtc?'5lfw*TWF% MMi* 15 # 3 5 JJOJR^RIR 3fT4o6cTld.

4. 3xR 3R<jftcl flfwiTFTf# JURM*' 20 # 40 ^WRTFT 3no5o5?TRT.

5. 5T3tR^TWcrtR fiRR»W3i 3fteo6ci).

6. ^^RWt^^xR^r^ft%WMf^5?r3rp^4.15 ^4.84 3TT%.

7. ‘t’ J^T 9.76 3TT%.

$m$z-

sn&r fir%r 3irr&3i rtrs# f^mff-f^rwf,

fNmff-qfarc sricRf^iir, 3# 3mmrt ^fthctt, #r%w,

femf flpJFT3^R3, MI6ld m<U <MH *Mm1 3S3cfH. SWcfN'l

feRr$n^lT%3TT^55^.
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Mfoswn - 2

gqgn w*m - °m$ni :-

rWI&J^MsW <*«»«*& 

^H«|lS^^SWI«n cm4<4I^WI^ ^T5*T^n^ltal«|cb^sW*Wd! ^T.”

anfvi <*wM«h 4]ihU| 3||c|Wc|>' m$.

N , r „ X-M-r-r —- i- ■ j I N _____^TTwT WT 3RRTHT RRFTFF frWRTT 3WRRTT -

1.

2.

Fraf:- yfirauTwtoi Fraf%

5MHPMH :- srf^T^TWT^TT ^TT^cT5EfTW*T

fwr ^r. wr% 3i i4Wm ^Frn%.

3. FFM^cji :- q^K tn^jfr FfRMI ehrafxft ^«WcMl' fom'm

4. SRFFT:- StWlFTt I^IWT^TT^cT3RRIHI3rwiWsWI^K feWH)

r. qchl fcliujfcl ^fl Prasdl.

r. SU<rWqi chHI-^l SilCoNI

5rrcrisFI% FWTH, MwfeT, F^RH^RF^T f%&3TT%.
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eblH«t>9>. 4.2

mm 5rf$T5n»rraHt ^nwoft * mnrmtwft

tiniRci

RfoR*r TOR

M

RIW^TT

MR

&

oM

*\

. .
t'

w* JPT

df

1BWFT

^ul4)

r

dm4idl

Iq-qw^l

S.D

4d,4>Ml

oD

WT

N

21.22 4.86 0.75
^M«fi

0.56 40 0.67 7.19 39 0.01
to:

25.25 3.72 0.58

A 1 c

df = 39, 0.01-2.72, 0.05 - 2.02 Calculated ‘t’ = 7.19

A A
m7T$!W

1. ^ y|^jcbl% MWTR 21.22 ? TO^R^dt^ y|MTO% MWTTd

25.25 t^3T%. WWMId1dqTOfT4.03 trcRT3TT%.

2.

3.72 sn%.

4.86 

1.14 3TT%.

'd 'dxK: 0.67 3TT%,

4. W 3rK^R«n STRfi<*T% ‘t’ ^ 7.19 ^3TT%.

:- HTO ‘t’ ‘t’ ^1^1 <4 ltd 3TT%. Jllkl *t’ 0.01 *TT

m<\4< MPfe 3TT%. mR+c-MHI 2 3R%kT 3fT%. TO 3pf 3TOT *$t, ## 

WTRHIdl^ fT dTTO 3TT%. STT^T 3^^ <fcl%Hfflrsfr ftfRsr 0^11^ Wf

f^T 3TT%. 3T3TT ^ 3WTO RdRfd ?IMI^ 

faffed 31TS55&.
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♦ rs ____».. *\ ..^MlHcl TJorRI
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«?Py ^SHTcfT : ■

fitfmtz-

i. ^r*Nufjxii3tt^fwft ^g>arrasKHi3tt%.

2. 3rTC x(Non^| 3TT^¥ «lgRrad srraiTRI 3TT%.

3. yikii^iw m^m.

4. 17 ^ 30 JJU|i«U|R fofiTRT.

5. 3tTC ^WuHd 5ITCTra 17 ^ 30 fawid.

6. ^ ^ ^3tR ^nwn\ srfwi r^T vmfa an^cfr.

7. ^^^^wft%?WFrf^:T«*T3^5^4.86^ 3.72 3TT%.

2. tsrfe^wr smdi Fraf, sqr^jH 3ir4kH, <wm^i, *FFTf^r,

^r%r fttiijcb xiMshH ^ikI swsmi .f^ira sH$*5t 3tt%.
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qfcreqwT w. 3

$tt&t <i»i4sw^ forffa* *n%r ftfM 3r sw&efte w

3m^N«nd1rt 5TMi^w^ ^ifk vm

Hlftw ar m*t* tPTtTT : - girafWE ^TW : -

3fWFr-3TbqiH»i HisbMci Mk^K^TWi^J 

*TRT 3TTfw cheM4)^ forfujcF cTCTC 3T^T ^TRT 3T#Jof 3q%T StWcTT

forfuT* wlidf ftflfd) ^ ^FK mm. ’ ’

_r^_ _ --ff_A. A Q _o ._. r> r-r *\ __ _______
fraFi^i ffiifcq mow I >

fei^i wwr, jmwfww,

4.3

•A rs r\ r\ rfi-A __ __ ____ _. r\ *t *\ c _ ^__ *\
9T*HPJ|cfc ^li^cU MIhIcii W ^FTT Qf*1VfT HTSffSCGTWmT M^h^Fi cT 3xf^xn^r«n

Wf *NU4ci ^flw <JWU

x r\ THSmcffa
. .

t’ ^^TtJtacfT c
qWTFT wm '?ir5i HtU| ^rnchdi

fw^H" iTTUli-^ll 9-Tw4t tim JTT^T

HPT

&
M S.D oM oD N r df

15.95 3.45 0.54

0.61 40 0.31 5.37 39 0.01
3tTC

19.17 3.21 0.5
^muR

df= 39, 0.01 - 2.72, 0.05 - 2.02 Calculated ‘t’ = 5.37
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1. ^^Muriate wwh 15.95 ?g^wqfcite MMki^ ttotrr 

19.17 T^an%. Tjwnww1«'WcKfT3.22^rar3n%.

2. yikli^ SRTWfTORSFj^ 3.45 5T 3.21 ^3T%. 

'K+^ro.24 3TT%.

3. ^ nuH ^ 3tr y Migrate *$*& 0.31 an%.

4. ^xTHufl ^^rK^N«n WIRiR3l% ‘t’ ^ 5.37 sn%.

fawinfr :-

tot ‘t’ jj^t | jt^tt ‘t’ Jjsrftgr tot ant. tot t *pr t o.oi *tt 

*jrr< 3n%. 4-^u|h MR^wrrg?. 3 aren^a 3tt%.

TOTR anf 3TOT *£t TTWlFTTcf^ fT TOR 3fl%. TOR 3Tf*R

_ Ai-iTlr. r- i-ir *\ , ,,, ,, A^n-T- n,

n WPW WSFt 3RTTC ^^cTTcT. WlW

ftfifcft ^TOC 5TFRTT 3^4> yq^cfT R<*fed ^IdM.

1. fifWER5il% jlrciRffift 31T^TOmf|R SPRT.

2. 3pjcf «*mw Mchd cmmmI mm.

3. TO^t, <!#, «frf#cft, 3TF^f, f%%, TO fnffldl ^RT.

4. HT%TOl apjcE, qfcuimchKct, dlMi 4,<uq|xil ^ai fadffd #.

mr mfoq ddm grrdi Q^Rid 3tr^.
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jet m = yraw
V m 1 = 13Pifcrc*rOT

*1 3RT - d<Md 'mdlkdl
V 3W 1 %.jft = 2 *R&d 3Rdlftdl

18

17

16

21
.5

 - 
24

.5

18
.5

 - 
21

.5

12
.5

 - 
15

.5

9.
5 -

 12
.5

^ ^
^mw£

£i

L 15
.5

-1
8.

5
%



eTWFPC SPRcIT

1. ^P^Ni 3||&S z&f ^ 3rra>KWI 3TT%.

2. 4tR ^RyfNT STT^W f§W<) 4gr 3TT47KT4T 3f%.

3. ^44di 4M>># fw< fd^dFFT3TT%cT.

4. 4TOT4> 10 cf 23 ^IKOMM 3il<SaJdld.

5. 10 cT 13 fKW fdf<i# SflcSoScITcf.

: -

1. $terf*i4> dr%4 ftfficfr 4 4Frc: mwi <wtfswi*j5& qftwi^i^

44?5 4luNdl.

2. $TT<# 3T^R cbl4sBHm^ f%fw 4T# d4K %#. fdfe 4£4>TO13t 41%4 

fqf^cf) 4#, 3P^f WTT Jf5? ^Hld 47#, 44#, 3TT#, d# f. d4K
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MfiqfiFFTTfF. 4

igiPTO |T|H gWcTT ; - 4»utfWE gWcTT : -

"sruimsh+fHl ncfamRor feft mmM mm m$t 3n%cf anftr fi%r 

%^IT SfflRTT %TPsqfag>‘ fcft SPTFTRT ITOT STf^cT | HTcfc^FT 3nfw ^fcT:

qsdiodH q^irsfi firochwate mat srctt.”

tpum ^«i% tes sradqfer m\< smh , &sfl

JTFTRTfeTWch^ilNl

JTT#tflfarjraft ^’Jifcf: M^dloW MI^rI 5f§Sll

^Ff 3T% | tffWTFTf STMcTt.

4bld«*> 5F. 4.4

tH*HT3Wsft gflwmwMl ^Huft

V. -fN -— • ^ _...mms ^®ini <$rMi

,tlf^TW J1WTFT

M

wr

S.D

##
JTfWSTT
m

aM

*Hfc4ldV

3*

OD

^fw
HW

N

SpRTSJ
jpT^i

t'

w*

*<Hfcflddl
JTT^T

df

*n*tar

*
24 4.84 0.76

0.68 40 0.58 4.77 39
3rTC

•dMUll
27.25 4.86 0.76

0.01

df = 39, 0.01 - 2.72, 0.05 - 2.02 Calculated‘t’= 4.77
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ftfftPT:-

1. ^R?WR3!^rr24^27.25 

m<$w 3.25 tyrant.

2. ff q 3tK ^Nuh'aloi grai^r% wm 3f^Ft 4.84 *T 4.86 ant.

##T^q^fT0.02 31%.

3. ^Ntrftq3tTC^iwryiMT^Icfl^fJFS0.58 T^T31%.

4. q vcM-HMuft 5nmr«£FT^ ‘t’ ^ 4.77 XT^3n%.

SFcT *t’ ^ I ^fTT ‘t’ 3TT%. 5TF<f ‘t’ ^ % 0.01 ^T

W<N<^TPfe3n%. w. 4 3T^RT3TT%.

*gmm r q^ vmt. m

^T^TRFt -

STT&T 3F$m cfil4sW RJii 

f^fer PRTK% J^WTFPT <m^. t

1.

2.

3.

4.

5.

WWfT tPTTC 3%EFT*TTC ^Tf^TPFft, PHR- M+KI^R

JfTf^TFMt, ^c^lfFTK ^prrf^TFFft ? && qfqWFT cfRT cRTC

^ihihhmi prikmI Rr%ft <rcterT, Mt q%r q pn^rfe

qft^n ^rk).

f^n-aiR <^Pib ^wim ^wr4\ OTcnpn^r^.

^rs  p fs______ n. %_____ n r rv *\ n<411^4) Frywl y^wm 4><^mi %\m\ mm iww

?qgf, fror^pr, iiw, ^mm, qqgwFraf %. Rrai%jj^rfh3*%.

wm umi^ m%o&.
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.. "s -.♦. rs • *v _^TWMflRTfRT



4) igRPTt'CT SRTcTT

ftffcSW:-

76

1. an^ aigfira^ sn^Rwr ant. *^i^N mt
Wgjvsl l^q.

2. ^xR ^Nun-MI 3TT^ 'd’HlRl^O ^3t|ebKMl 3TT%.

3. ^^NundVjrfwwfftarcrish io% 30 ^ikomh angsrara;

4. 3rTT WMuftdW y1wm«fF% MIRlk 15 ^ 37 JjUINWR 3TT3o5cTTd.

5. ^tjftxzrr fwc f%r wm WsF arrest.

JjHI^NdNI sqiW 3pf ^ *PT^T 31WCRT% f^T, wf^ra^TT^t 3RfcF 

TO^T ^m, 3TT5M ? f. $RRTRT feRT

3IT<4o6rt|.
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r * _MRetxrMHI 5F. 5

cbi^sbH ifi im sw&ftw’jfa m MuffdV

m^kw^^Flii <+><<* M^d Hill

■«raRIIMH SWcTT:- «CTHfaw» WIIWI :-

‘ ‘^055?T JT^HraoSNT w* ? 3c**J*f H^TFr ftoifT ? WFTt^t mFTRT

sriMicMHebMldcwl^loJ, srorsnft w$U «$*!< qraaSWd mmwi^

rprt oii^ iqn mm. ’ ’

«hl«l^ <*l4ch^<Hl^4T^fr f<mK tj<? $d) cf^

w&zm ^t# m wwm arawm 

^TcT srtctRt. ^ srcRr 3%% ^rft tocT srrf^r ^ft HTwr^rr sk 3?fE mdoaWd 

*mzr r4 mtm % ^nwat ^ arawm 3tpt wm wf.

WFTR, SRFT l^fcM, ^ 3TT%.

4.5
......................... ........ -_rs  -fg—*v _r *. __ ^ v ♦ r\ » *\oCRPTFHT SSGTcIT Sn$lS)Pll4ml 'J3RM'J|| ST ^tK^MUII *rat STRTTScT ^INI <JrWI

*1WTFT WFI 3># fllbqicjlW w* t' witTMcil tusf'fcdl

■M l?^M j-c>M i WIT WT RR

wm

&
M S.D gM aD N r df

25.3 3.9 0.61

0.6 40 0.59 10.95 39 0.01
3rR

31.87 4.55 0.71
^rpsruft

df= 39, 0.01 - 2.72, 0.05 - 2.02 Calculated ‘t’ = 10.95
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1. 2S.3? 3i. 

sfr^cftw <R3>w 6.57 tT^ST3TT%.

2. ^^^^CdM'jfldttf yi^iw% W*T fWH 3T^r 3.90 Sf 4.55 ^3TT%.

0.65 3T%.

3. ^-Run cT3tRxjHuft JJFGRRRfte0.60 3H%.

4. ^^RUi) g3rRxfRTift yiRljcB!% ‘t’ ^ 10.95 ^3TT%.

Pi«4j4 :-

WZ r ^ t d*pfT ‘t’ JJ^TT^TT 3fl%. SFd ‘t’ ^ I 0.01 ^TT

''RKW 3TT|. gj. 5 3R<ft$d 3#. 3RR 3pf 3RT #

WTOTHIdlrt 4*+ 3TT%. STT^T3T^RShflfsM £>A|Fj4f WddT 3^<*>

, ,ry ..... r? ________ . .n , ,,nntW*lldMI RdFTFFT^Td ^FTd.

1.

2.

3.

4.

5.

,tJV, _ _ v y n *\ n ____ v rx y
cbHcMl *nehn 3?nq!tT<*><MI thl^d 6<Ndl.

imi-^ losw^eF mK ttat.

STHTT^tK +|4‘sWI^ ongwiqq' cRd).

6.

7.

8.

9.

10.

oild'Wim «Kdl

9TT&d1d> 3T9TRR^RTTogl%3T%dldfdNd <*<dl.

OT&dV dlf^di Waf,

3^tt foafira? 3^4? q>rigffn^ oMd^i md ^rtd^iK»u
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SHTcTT * sM<WR<in

flMlIqd *piMI <Jri»1!
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5. STOTT

ftftetW:-

1. 3ir^ cR5bi# ficbiufl m\6

2. 3ttc ^terNt fm% ^ 3tt^rhi 3tt%.

3. ^ ^ -tn^fi^nt f^rar f%r sn^r ^iuwd\

4. ^ =errawlcr 3jfwTmf% stmt^ 15^35 <fih^«n;r im&m.

5. 3tR -MbWVa TrfwWPff%$HR<k 15^35 (^If;^ 3il<oo6dld.

<J<f #T f*FT Sfrft anss'drd.

ST^STFFT 3Rf 3fWFT f^3R, Wlf^ 4>l4sb'^

sq^im, smii^TR «si4§cti% srr&dlw srttcft, f^rFraft^w^ %.

STOdNI feRT 31^1% 3TT335&.


